

Property 3.3 Best Linear Prediction for Stationary Processes

Given data x_1, \dots, x_n , the best linear predictor, $x_{n+m}^n = \alpha_0 + \sum_{k=1}^n \alpha_k x_k$, of x_{n+m} , for $m \geq 1$, is found by solving

$$E[(x_{n+m} - x_{n+m}^n) x_k] = 0, \quad k = 0, 1, \dots, n, \quad (3.60)$$

where $x_0 = 1$, for $\alpha_0, \alpha_1, \dots, \alpha_n$.

First, consider one-step-ahead prediction. That is, given $\{x_1, \dots, x_n\}$, we wish to forecast the value of the time series at the next time point, x_{n+1} . The BLP of x_{n+1} is of the form

$$x_{n+1}^n = \phi_{n1}x_n + \phi_{n2}x_{n-1} + \dots + \phi_{nn}x_1, \quad (3.61)$$

where, for purposes that will become clear shortly, we have written α_k in (3.59), as $\phi_{n, n+1-k}$ in (3.61), for $k = 1, \dots, n$. Using Property 3.3, the coefficients $\{\phi_{n1}, \phi_{n2}, \dots, \phi_{nn}\}$ satisfy

$$E\left[\left(x_{n+1} - \sum_{j=1}^n \phi_{nj}x_{n+1-j}\right)x_{n+1-k}\right] = 0, \quad k = 1, \dots, n,$$

or

$$\sum_{j=1}^n \phi_{nj}\gamma(k-j) = \gamma(k), \quad k = 1, \dots, n. \quad (3.62)$$

The prediction equations (3.62) can be written in matrix notation as

$$\Gamma_n \phi_n = \gamma_n, \quad (3.63)$$

where $\Gamma_n = \{\gamma(k-j)\}_{j,k=1}^n$ is an $n \times n$ matrix, $\phi_n = (\phi_{n1}, \dots, \phi_{nn})'$ is an $n \times 1$ vector, and $\gamma_n = (\gamma(1), \dots, \gamma(n))'$ is an $n \times 1$ vector.

The matrix Γ_n is nonnegative definite. If Γ_n is singular, there are many solutions to (3.63), but, by the Projection Theorem (Theorem B.1), x_{n+1}^n is unique. If Γ_n is nonsingular, the elements of ϕ_n are unique, and are given by

$$\phi_n = \Gamma_n^{-1} \gamma_n. \quad (3.64)$$

For ARMA models, the fact that $\sigma_w^2 > 0$ and $\gamma(h) \rightarrow 0$ as $h \rightarrow \infty$ is enough to ensure that Γ_n is positive definite (Problem 3.12). It is sometimes convenient to write the one-step-ahead forecast in vector notation

$$x_{n+1}^n = \phi_n' \mathbf{x}, \quad (3.65)$$

where $\mathbf{x} = (x_n, x_{n-1}, \dots, x_1)'$.

The mean square one-step-ahead prediction error is

$$P_{n+1}^n = E(x_{n+1} - x_{n+1}^n)^2 = \gamma(0) - \gamma_n' \Gamma_n^{-1} \gamma_n. \quad (3.66)$$

To verify (3.66) using (3.64) and (3.65),

$$\begin{aligned} E(x_{n+1} - x_{n+1}^n)^2 &= E(x_{n+1} - \phi_n' \mathbf{x})^2 = E(x_{n+1} - \gamma_n' \Gamma_n^{-1} \mathbf{x})^2 \\ &= E(x_{n+1}^2 - 2\gamma_n' \Gamma_n^{-1} \mathbf{x} x_{n+1} + \gamma_n' \Gamma_n^{-1} \mathbf{x} \mathbf{x}' \Gamma_n^{-1} \gamma_n) \\ &= \gamma(0) - 2\gamma_n' \Gamma_n^{-1} \gamma_n + \gamma_n' \Gamma_n^{-1} \Gamma_n \Gamma_n^{-1} \gamma_n \\ &= \gamma(0) - \gamma_n' \Gamma_n^{-1} \gamma_n. \end{aligned}$$

Example 3.18 Prediction for an AR(2)

Suppose we have a causal AR(2) process $x_t = \phi_1 x_{t-1} + \phi_2 x_{t-2} + w_t$, and one observation x_1 . Then, using equation (3.64), the one-step-ahead prediction of x_2 based on x_1 is

$$x_2^1 = \phi_{11} x_1 = \frac{\gamma(1)}{\gamma(0)} x_1 = \rho(1) x_1.$$

Now, suppose we want the one-step-ahead prediction of x_3 based on two observations x_1 and x_2 ; i.e., $x_3^2 = \phi_{21} x_2 + \phi_{22} x_1$. We could use (3.62)

$$\begin{aligned} \phi_{21} \gamma(0) + \phi_{22} \gamma(1) &= \gamma(1) \\ \phi_{21} \gamma(1) + \phi_{22} \gamma(0) &= \gamma(2) \end{aligned}$$

to solve for ϕ_{21} and ϕ_{22} , or use the matrix form in (3.64) and solve

$$\begin{pmatrix} \phi_{21} \\ \phi_{22} \end{pmatrix} = \begin{pmatrix} \gamma(0) & \gamma(1) \\ \gamma(1) & \gamma(0) \end{pmatrix}^{-1} \begin{pmatrix} \gamma(1) \\ \gamma(2) \end{pmatrix},$$

but, it should be apparent from the model that $x_3^2 = \phi_1 x_2 + \phi_2 x_1$. Because $\phi_1 x_2 + \phi_2 x_1$ satisfies the prediction equations (3.60),

$$E\{[x_3 - (\phi_1 x_2 + \phi_2 x_1)]x_1\} = E(w_3 x_1) = 0,$$

$$E\{[x_3 - (\phi_1 x_2 + \phi_2 x_1)]x_2\} = E(w_3 x_2) = 0,$$

it follows that, indeed, $x_3^2 = \phi_1 x_2 + \phi_2 x_1$, and by the uniqueness of the coefficients in this case, that $\phi_{21} = \phi_1$ and $\phi_{22} = \phi_2$. Continuing in this way, it is easy to verify that, for $n \geq 2$,

$$x_{n+1}^n = \phi_1 x_n + \phi_2 x_{n-1}.$$

That is, $\phi_{n1} = \phi_1$, $\phi_{n2} = \phi_2$, and $\phi_{nj} = 0$, for $j = 3, 4, \dots, n$.

From Example 3.18, it should be clear (Problem 3.40) that, if the time series is a causal AR(p) process, then, for $n \geq p$,

$$x_{n+1}^n = \phi_1 x_n + \phi_2 x_{n-1} + \dots + \phi_p x_{n-p+1}. \quad (3.67)$$

Property 3.4 The Durbin–Levinson Algorithm

Equations (3.64) and (3.66) can be solved iteratively as follows:

$$\phi_{00} = 0, \quad P_1^0 = \gamma(0). \quad (3.68)$$

For $n \geq 1$,

$$\phi_{nn} = \frac{\rho(n) - \sum_{k=1}^{n-1} \phi_{n-1,k} \rho(n-k)}{1 - \sum_{k=1}^{n-1} \phi_{n-1,k} \rho(k)}, \quad P_{n+1}^n = P_n^{n-1} (1 - \phi_{nn}^2), \quad (3.69)$$

where, for $n \geq 2$,

$$\phi_{nk} = \phi_{n-1,k} - \phi_{nn} \phi_{n-1,n-k}, \quad k = 1, 2, \dots, n-1. \quad (3.70)$$

The proof of Property 3.4 is left as an exercise; see Problem 3.13.

Example 3.19 Using the Durbin–Levinson Algorithm

To use the algorithm, start with $\phi_{00} = 0$, $P_1^0 = \gamma(0)$. Then, for $n = 1$,

$$\phi_{11} = \rho(1), \quad P_2^1 = \gamma(0)[1 - \phi_{11}^2].$$

For $n = 2$,

$$\begin{aligned} \phi_{22} &= \frac{\rho(2) - \phi_{11} \rho(1)}{1 - \phi_{11} \rho(1)}, \quad \phi_{21} = \phi_{11} - \phi_{22} \phi_{11}, \\ P_3^2 &= P_2^1 [1 - \phi_{22}^2] = \gamma(0)[1 - \phi_{11}^2][1 - \phi_{22}^2]. \end{aligned}$$

For $n = 3$,

$$\begin{aligned} \phi_{33} &= \frac{\rho(3) - \phi_{21} \rho(2) - \phi_{22} \rho(1)}{1 - \phi_{21} \rho(1) - \phi_{22} \rho(2)}, \\ \phi_{32} &= \phi_{22} - \phi_{33} \phi_{21}, \quad \phi_{31} = \phi_{21} - \phi_{33} \phi_{22}, \\ P_4^3 &= P_3^2 [1 - \phi_{33}^2] = \gamma(0)[1 - \phi_{11}^2][1 - \phi_{22}^2][1 - \phi_{33}^2], \end{aligned}$$

and so on. Note that, in general, the standard error of the one-step-ahead forecast is the square root of

$$P_{n+1}^n = \gamma(0) \prod_{j=1}^n [1 - \phi_{jj}^2]. \quad (3.71)$$

$$\sum_{j=1}^n \phi_{nj}^{(m)} \gamma(k-j) = \gamma(m+k-1), \quad k = 1, \dots, n. \quad (3.74)$$

The prediction equations can again be written in matrix notation as

$$\Gamma_n \boldsymbol{\phi}_n^{(m)} = \boldsymbol{\gamma}_n^{(m)}, \quad (3.75)$$

where $\boldsymbol{\gamma}_n^{(m)} = (\gamma(m), \dots, \gamma(m+n-1))'$, and $\boldsymbol{\phi}_n^{(m)} = (\phi_{n1}^{(m)}, \dots, \phi_{nn}^{(m)})'$ are $n \times 1$ vectors.

The mean square m -step-ahead prediction error is

$$P_{n+m}^n = E(x_{n+m} - x_{n+m}^n)^2 = \gamma(0) - \boldsymbol{\gamma}_n^{(m)'} \Gamma_n^{-1} \boldsymbol{\gamma}_n^{(m)}. \quad (3.76)$$

Another useful algorithm for calculating forecasts was given by Brockwell and Davis (1991, Chapter 5). This algorithm follows directly from applying the projection theorem (Theorem B.1) to the innovations, $x_t - x_t^{t-1}$, for $t = 1, \dots, n$, using the fact that the innovations $x_t - x_t^{t-1}$ and $x_s - x_s^{s-1}$ are uncorrelated for $s \neq t$ (see Problem 3.41). We present the case in which x_t is a mean-zero stationary time series.

Property 3.6 The Innovations Algorithm

The one-step-ahead predictors, x_{t+1}^t , and their mean-squared errors, P_{t+1}^t , can be calculated iteratively as

$$x_1^0 = 0, \quad P_1^0 = \gamma(0)$$

$$x_{t+1}^t = \sum_{j=1}^t \theta_{tj} (x_{t+1-j} - x_{t+1-j}^{t-j}), \quad t = 1, 2, \dots \quad (3.77)$$

$$P_{t+1}^t = \gamma(0) - \sum_{j=0}^{t-1} \theta_{t,t-j}^2 P_{j+1}^j \quad t = 1, 2, \dots, \quad (3.78)$$

where, for $j = 0, 1, \dots, t-1$,

$$\theta_{t,t-j} = \left(\gamma(t-j) - \sum_{k=0}^{j-1} \theta_{j,j-k} \theta_{t,t-k} P_{k+1}^k \right) / P_{j+1}^j. \quad (3.79)$$

Given data x_1, \dots, x_n , the innovations algorithm can be calculated successively for $t = 1$, then $t = 2$ and so on, in which case the calculation of x_{n+1}^n and P_{n+1}^n is made at the final step $t = n$. The m -step-ahead predictor and its mean-square error based on the innovations algorithm (Problem 3.41) are given by

$$x_{n+m}^n = \sum_{j=m}^{n+m-1} \theta_{n+m-1,j} (x_{n+m-j} - x_{n+m-j}^{n+m-j-1}), \quad (3.80)$$

$$P_{n+m}^n = \gamma(0) - \sum_{j=m}^{n+m-1} \theta_{n+m-1,j}^2 P_{n+m-j}^{n+m-j-1}, \quad (3.81)$$

where the $\theta_{n+m-1,j}$ are obtained by continued iteration of (3.79).

Example 3.21 Prediction for an MA(1)

The innovations algorithm lends itself well to prediction for moving average processes. Consider an MA(1) model, $x_t = w_t + \theta w_{t-1}$. Recall that $\gamma(0) = (1 + \theta^2)\sigma_w^2$, $\gamma(1) = \theta\sigma_w^2$, and $\gamma(h) = 0$ for $h > 1$. Then, using Property 3.6, we have

$$\theta_{n1} = \theta\sigma_w^2 / P_n^{n-1}$$

$$\theta_{nj} = 0, \quad j = 2, \dots, n$$

$$P_1^0 = (1 + \theta^2)\sigma_w^2$$

$$P_{n+1}^n = (1 + \theta^2 - \theta\theta_{n1})\sigma_w^2.$$

Finally, from (3.77), the one-step-ahead predictor is

$$x_{n+1}^n = \theta (x_n - x_n^{n-1}) \sigma_w^2 / P_n^{n-1}.$$